mx'+ex+ Kx= 0

EoP2 54.2% -
™is ‘)ro\p\eh\ dexls with a \r\\g\nhj S|M‘7\\ﬁed medel of- o car o-f-wctgh—’c
2200 lp (masse=00 slugsin £ps units ) < ™=
Assume that the suspension euslem acts e a single spng and s =~ -
Shode dpsorbers safisfy the above  equation with q rate valves o s “nisd
the coeffcients, peTp f / /l‘))Se(
a) Fm?\ the stiffness coeFEcnén-\- K of the spn;\g'tf the car underyoes < Wo= S0 wis
free womtions  at BO  cycles /min  uhen ks shock abcerbes are e
disconnecked. <& when C=0
b) With the shock dpsovrbers connected the car 15 sef Intv Vibvation
by dnvmg'& overa buM\) , and the D’S\JH';'\Q daMPcA Uterahions have
a fraaency € I8 cydes /min . = w::;ﬁ'ag_':%
After how long will the -hmc,-vavymj am‘)\&udc be |% OF ths inhdvale 7 «— A@:jf= oL A
~4t =0
son \mdam‘?eA € 0
! _ N K =
@) O X" rox!+ kx =0 — X +(_o.0x O
A~

Wo= 80 cydes = B0 (Ued) _ A Emad o /47
i COsec (%) ed 7= fared Gilce et ] J e
T NoWV known
b) OXx"“tcx!' +kx =0
) (¢+Cr+ kK =0
= —C £NC% 40k = —ZSO() t ij‘WU\GCl =-k+tlw complex rodrs
20 =
o WE)—J ("damped V\bm'ﬁu)
Amrn y Go Sec J
Wz sowe forc
~C - Q - _ - T f. L
o (2%) 400k-c2 = 70* (Tl
Z —

C —— 4001(-—&002@__%)7
: 200° @%“‘)bza& @5@‘
o @01_79@91
C= woar [ty ~ 372.3)
bﬁfU"‘é’L: 73(/9 ~ 0,53712 sec
46T = 2189 s A~ 24T sec
é} takes 4.6 craadeninc tmes o wduce the mihal amplduke by < fach /F/w}

note . wedid net Need o reér to apy fomuls othe
than the quad rahc f;nwla ! 9]% :
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